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W, (gw) |4, Com) |4, Com) |4, (cm) |a(gw/cm)
M f5 Q30 3.50 19.35 30.20 31.20 0.0270
H #WHQC40 3.50 19.35 | 30.20 32.80 0.0703
VOB R (240) 3.50 19.35 30.20 31.80 0.0433
XK Q20 3.50 19.35 30.20 33.80 0.0757
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W,(gw) |4 Ccm) | ¢, Com) |2, (cem) |o(gw/om)

77C | 3.50 | 19.35 | 30.20 | 32.73 | 0.0684
67°C | 3.50 | 19.35 | 30.20 | 32.75 | 0.0689
57C | 3.50 | 19.35 | 30.20 | 32.78 | 0.0698
47C | 3.50 | 19.35 | 30.20 | 32.80 | 0.0703
37C | 3.50 | 19.35 | 30.20 32.88 | 0.0725
27C | 3.50 19.35 | 30.20 | 32.90 | 0.0730
23.5C| 3.50 | 19.35 | 30.20 | 32.95 | 0.0744
92¢C | 3.50 | 19.35 | 30.20 | 33.00 | 0.0757
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R (em) Ax | o(gw/om)
16% | 0.080 | 7.90 | 0.076
175 | 0.075 | 8.10 | 0.078
18%% | 0.050 9.00 0.075
198 | 0.040 | 9.70 | 0.074
20% | 0.030 | 10.60 | 0.075

R(m) | Ax | o (g/em)
1658 | 0.080 5.30 | 0.0224
178 | 0.075 | 5.50 | 0.0285
185 | 0.050 | 5.80 | 0.0265
198 | 0.040 | 5.90 | 0.0232
208 | 0.030 | 6.40 | 0.0249
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R(em) | Ax |o(g/om®)
165 | 0.080 | 8.20 | 0.0720
178 | 0.075 | 8.25 | 0.0736
188 | 0.050 | 9.25 | 0.0738
195 | 0.040 | 10.00 | 0.0748
208 | 0.030 | 11.20 | 0.0735
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R(em) | Ax |o(gw/cm)
165 | 0.080 | 16.1 | 0.535
178 | 0.075 | -17.0 | 0.536
188 | 0.050 | 23.0 | 0.507
19% | 0.040 | 27.7 | 0.501
2088 | 0.030 | 32.1 | 0.514
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